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Directions: Solve each problem by determining the probability that the event will occur. Give the fraction, percent
and likelihood that an event will occur.

| Fraction | Percent Likelihood? (Circle One)
1. P(Red) Impossible Unlikely
4 _Zv_ 4 56 < Equally Likely Likely
& 4 2 % Certain
/-'_'-'-..___‘_
Reg v Kl 2. P(Green) _ impossible Unlikely
B | o _g,__: L ZS_D Equally Likely Likely
84 % Certain

a. Which color(s) is the spinner least likely to land on? blue or (E‘r-fm

b. Which color(s) is the spinner most likely to land on? Y’f’d

You toss a dice 0 times and recorded the results in the table below.
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Use the bar graph to find the experimental probability of the event.
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You spin the spinner AND roll a number die with the numbers
1-6.

Create a TREE DIAGRAM to display all possible outcomes
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What is the probability of getting an even number on the spinner ‘and the number cube?
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SCORE

NA E D M NA E D M M
' NA = Not Achieved E=  Emerging D = Developing M= Mastery




